t16_prob_2
(TMJoDEmgqh1VuTuuYSU3jjjFycDmyFSEuXT)

October 27, 2020

Let vl_xboole 0 : =0 be given. Let vl_prob_1 : t=t=>0 be given. Let
vd_prob_1 : 1=>1=-0 be given. Let m1_subset_1 : t1=>1=-0 be given. Let k1_zfmisc_1 :
1=t be given. Let m1_prob_1 : 1=>1=-1=>0 be given. Let m2_prob_1 : :=1=1=0
be given. Let kl_seq_1 : 1=1=>¢ be given. Let k9_real_1 : 1=1=>t be given.
Let np__1 : ¢ be given. Let k7_prob_1 : t=>t=-1=1=>1 be given. Let k4_prob_1 :
t=>t= be given. Let k3_subset_1 : t1=>1=-1 be given. Let k4_xboole 0 : t.=1=>1
be given. Assume the following.

VX0.(—vl_xboole 0 X0)=(VX1.((—vl_xboole 0 X1)A
((v1lprobl X1 X0)A((vd_prob_l X1 X0)A(ml_subset-1 X1 (kl_zfmisc_1
(kl_zfmisc.1 X0)))))=(VX2.(mlprob.l X2 X0 X1)=(VX3.
(m2_prob-1 X3 X0 X1)=(kl_seq-1 X3 (k7_prob-1 X0 X1 (k4d_prob_1 X0
X1) X2) = k9.real -1 np__1 (kl_seq-1 X3 X2)))))
1)

Assume the following.

VX0.VX1.((—vl_zboole 0 X1)A((vl_prob.1 X1 X0)A
((vdprob_1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc1 (kl_zfmisc_1 (2)
X0))))))=(ml_prob-1 X0 X0 X1)

Assume the following.

VX0.VX1.((—vlxboole-0 X1)A((vl_prob-1 X1 X0)A
((vd_prob_1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc1 (kl_zfmisc_1 (3)
X0))))))=(VX2.(mlprob-1 X2 X0 X1)=(ml_prob-1 (k3_subset_1
X0 X2) X0 X1))

Assume the following.

VX0.VX1.((—vlxboole.0 X1)A((v1_prob-l X1 X0)A
((vdprob_1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc1 (kl_zfmisc_1 (4)
X0))))))=(VX2.(mlprob-l1 X2 X0 X1)=(ml_subset_-1 X2 X1))



Assume the following.

VYX0VX1.VX2.VX3.(((—vl_xboole 0

XDA((vlprobl X1 X0)A((vd-prob-1 X1 X0)A(ml_subset_1 X1 (kl_zfmisc_1

(k1_zfmisc_1 X0)))))A((ml_subset-1 X2 X1)A(ml_subset-1 X3 X1)))=
(k7_prob-1 X0 X1 X2 X3 = kd_xboole.0 X2 X3)

()

Assume the following.

VX0.VX1.(ml_subset_1 X1 (kl_zfmisc.1 X0))=(k3_subset_1 (6)
X0 (k3_subset_1 X0 X1) = X1)

Assume the following.

VX0VX1.((—vlzboole.0 X1)A((vl_prob.l X1 X0)A
((vdprob1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc_1 (kl_zfmisc_1
X0))))))=(VX2.(mlprob-1 X2 X0 X1)=(ml_subset_1 X2 (kl_zfmisc_1

X0)))
(7)
Assume the following.
VX0.VX1.(ml_subset.1 X1 (kl_zfmisc.1 X0))=(ml_subset_1 (8)
(k3_subset_1 X0 X1) (kl_zfmisc.1 X0))

Assume the following.

VX0.VX1.((—vlxboole.0 X1)A((vl_prob-l X1 X0)A
((vdprob-1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc.1 (kl_zfmisc_1 9)
X0))))))=(k4_prob_-1 X0 X1 = X0)

Assume the following.

VX0.VX1.(ml_subset_1 X1 (kl_zfmisc.1 X0))=(k3_subset_1
X0 X1 = k4_xboole 0 X0 X1)

Theorem 1

VX0.(—vl_zboole.0 X0)=(VX1.((—vl_zboole-0 X1)A
((v1prob-1 X1 X0)A((vd_prob-1 X1 X0)A(ml_subset_1 X1 (kl_zfmisc_1
(kl_zfmisc.1 X0))))))=(VX2.(ml_prob.l X2 X0 X1)=(VX3.
(m2_prob_1 X3 X0 X1)=(kl_seq-1 X3 X2 =£k9_real_1 np__1 (kl_seq_1
X3 (k7prob-1 X0 X1 (kd_prob_1 X0 X1) X2))))))



